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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

9.

Animal husbandry is the branch of agriculture --—---eeeeeeeee with animals that are
raised for meat, fiber, milk, eggs, or other products.
1) handled 2) concerned 3)included 4) interfered

Named by Portuguese explorer Ferdinand Magellan, who believed it to be free of
---------- -- storms, the Pacific Ocean is not, in fact, so pacific.

1) violent 2) distant 3) temporary 4) pointless

Animal rights is not just a philosophy—it is a social movement that -----ceeeeeeeeee
society’s traditional view that all nonhuman animals exist solely for human use.

1) asserts 2) magnifies 3) distinguishes 4) challenges

If people can raise enough fish on farms, it stands to —------—-- --- that they will be
less inclined to hunt them from the sea.

1) logic 2) rationality 3) reason 4) attention

The programmer --------s-ee-—-- an analogy between the human brain and the
computer.

1) drew 2) bore 3) took 4) put

The --—smereeeeee -- of the editor’s comments made us think that he hadn’t really read
the manuscript.

1) intensity 2) ignorance 3) tolerance 4) superficiality

The two boys tried to sound ----—-----—-——- at the police station, but they weren’t really
sorry that they had herded the sheep into Mr. Ingersoll’s house.

I) resistant 2) impatient 3) regretful 4) indifferent

Though he spoke for over an hour, the lecturer was completely -—-—------ -- and the
students had no idea what he was talking about.

1) solitary 2) inarticulate 3) curious 4) effortless

For years no one could make this particular therapy work in animals larger than
rodents, but now two research groups have demonstrated its —-----=--emuuunv in dogs.

1) efficacy 2) restriction 3) sympathy 4) vulnerability
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10- The African elephant has become the object of one of the biggest, broadest

international efforts yet -----eeeceeeeeeee to turn a threatened species off the road to
extinction.
1) intruded 2) explored 3) mounted 4) compensated

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Scientists first recognized the value of the practice more than 60 years ago. when
they found that rats (11) ===-smeemeeaeev a low-calorie diet lived longer on average
than free-feeding rats and (12) ---se-cemmeeeee- incidence of conditions that become
increasingly common in old age. (13) ==-=--eeeeeeeeee ., some of the treated animals
survived longer than the oldest-living animals in the control group, (14) -=-==-=en---
that the maximum life span (the oldest attainable age), (15) ---------==----- merely the
average life span. increased.

11- 1) were fed 2) which they fed  3) fed 4) feeding
12- 1) had a reduced 2) they reduced

3) were reduced 4) that it reduced
13- 1) Although 2) While 3) What is more 4) So that
14- 1) meant 2) which means 3) means 4) it means
15- I)no 2) nor 3) neither 4) not

PART C: Reading Comprehension
Directions: Read the following three passages and answer the questions by choosing the best

chaoice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Back in 1994, programmers figured that whatever code they wrote would run at least
50 percent faster on a 1995 machine and 50 percent faster still on a 96 system. But it
was seen that the party couldn't go on forever. For decades. microprocessor designers
used the burgeoning number of transistors that could be squeezed onto each chip to
boost computational horsepower. And chipmakers continually upped micro-processor
clock rates, something the diminishing size of transistors readily allowed. But they
found they could no longer reduce the operating voltage as sharply as they had in the
past as they strived to make transistors smaller and faster. That in turn caused the
amount of waste heat that had to be dissipated from each square millimeter of silicon
to go up. Eventually designers hit what they call the power wall, the limit on the
amount of power a microprocessor chip could reasonably dissipate.

To solve that problem, the first general-purpose multicore CPU was designed.
Everyone's happy except perhaps for the programmers, who must now write code so
that work is divided among processor cores. As a result, sometimes different cores
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16-

17-

19-

20-

need to work on the same data or must coordinate the passing of data from one core to
another. To prevent the cores from overwriting one another's information. processing
data out of order, or committing other errors, multicore processors use lock-protected
software queues. But all that extra software comes with significant overhead. which
gets worse as the number of cores increases.

What is the best title for the above passage?

1) How to Make Multicore Chips Faster

2) Breaking the Multicore Bottleneck

3) Multicore Made Simple

4) The Trouble With Multicore

What does the author mean by "the party couldn't go on forever" in line 3?
1) Microprocessors could not scale up as efficiently as expected.

2) Programmers could not join the party.

3) Programming methods could not be the same as before.

4) Designers had to abandon working on new ideas.

Programmers were not happy with multicore CPU because —--—e-emeenees,
1) they could not go to the party

2) their programs were accelerated by multicore CPU

3) instructions had to be executed sequentially

4) they needed to change their programming methods

In a single-core CPU, computational power could NOT be increased any more by --------,
1) increasing the number of transistors 2) reducing the size of transistors

3) raising the clock rate 4) reducing the power supplied

What was the bottleneck for boosting computational horsepower?

1) Programming method 2) Power dissipation

3) Faster transistors 4) Advanced technology

PASSAGE 2:

It should come as no surprise that recent advances in big-data analytics and artificial
intelligence have created strong incentives for enterprises to amass information about
every measurable aspect of their businesses. And financial regulations now require
organizations to keep records for much longer periods than they had to in the past. So
companies and institutions of all stripes are holding onto more and more. Studies show
that the amount of data being recorded is increasing at 30 to 40 percent per year. At the
same time, the capacity of modern hard drives, which are used to store most of this, is
increasing at less than half that rate. Fortunately, much of this information doesn't need
to be accessed instantly. And for such things, magnetic tape is the perfect solution.
Tape has been around for a long while. but the technology hasn't been frozen in time.
Apart from some negative points, the magnetic tape's advantages are many. To
begin with, tape storage is more energy efficient: Once all the data has been recorded,
a tape cartridge simply sits quietly in a slot in a robotic library and doesn't consume
any power at all. Tape is also exceedingly reliable, with error rates that are four to five
orders of magnitude lower than those of hard drives. And tape is very secure, with
built-in, on-the-fly encryption and additional security provided by the nature of the
medium itself. After all, if a cartridge isn't mounted in a drive, the data cannot be
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accessed or modified. This "air gap" is particularly attractive in light of the growing
rate of data theft through cyberattacks. The offline nature of tape also provides an
additional line of defense against buggy software.

According to the first paragraph,------—-—-,

1) magnetic tape is the dominant data storage device nowadays

2) capacity of modern hard drives is increasing at least 15 to 20 percent each year

3) tape recording technology has been recently utilized

4) magnetic tape technology has advanced over the decades

Which of the following has NOT been mentioned as a reason for massive data storage?

1) Security requirements 2) Financial rules

3) Big-data applications 4) Artificial intelligence

According to the passage, which of the following is a disadvantage of magnetic tape?
1) Low storage capacity 2) Slow access speed

3) High power consumption 4) Low security and stability

Tape recording technology is more secure than hard disks because of —--eememmucanas

1) its lower operating costs 2) its higher capacity for redundant data
3) the offline nature of the medium 4) the locked nature of the medium

The above passage mainly -—----eeeeeeee- .

1) compares two data storage technologies

2) talks about the motivations for data storage advancements

3) discusses the pros and cons of an old technology as a selution to a recent problem
4) reviews the history of data storage systems

PASSAGE 3:

In object-oriented computer programming, SOLID is a mnemonic acronym for five
design principles intended to make software designs more understandable, flexible and
maintainable. The principles are a subset of many principles promoted by Robert C.
Martin. Though they apply to any object-oriented design, the SOLID principles can
also form a core philosophy for methodologies such as agile development or adaptive
software development. The theory of SOLID principles was introduced by Martin in
his paper of 2000, although the SOLID acronym itself was introduced later by Michael
Feathers.

SOLID stands for:

1. Single responsibility principle: A class should only have a single responsibility.

2. Open/closed principle: Software entities should be extensible without modifying
existing code.

3. Liskov substitution principle: Objects in a program should be replaceable with
instances of their subtypes without altering the correctness of that program.

4. Interface segregation principle: Many client-specific. cohesive interfaces are better
than one general-purpose interface.

5. Dependency inversion principle: Classes should depend upon abstractions, not
concretions.
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26- Which of the following can be inferred from the passage?
1) Adherence to SOLID can facilitate software maintenance.
2) The Interface Segregation Principle was promoted by Michael Feathers.
3) Concretions are harmful to agility.
4) The SOLID acronym was introduced in 2000.
27-  Which of the following has NOT been mentioned as a benefit of SOLID?
1) Increased robustness 2) Increased maintainability
3) Increased flexibility 4) Increased comprehensibility
28-  According to the passage, which of the following is addressed by SOLID?
1) Replaceability of objects by their subtypes
2) Reusability of system components
3) Reliability of class methods
4) Extensibility of network topologies
29-  Which of the following is more appropriate as a title for this passage?
1) Object-Oriented Design Principles
2) A Foundation for Agile Organizations
3) A Typology of Solids
4) Fundamentals of Architectural Design
30-  Which of the following words is closer in meaning to ""'mnemonic" in line 1?
1) Reminiscent 2) Practical
3) Inovative 4) Compulsive

! (s Sl o pairdigen Szl g slof wfomail s < Yolao (T3)) opos b ,) Slsl,

Sl plas (N | 27| jlade .adl ke sae s Z =X +iy oS o8 -T)
XIn|z|-yargz (\
yln|z|+xargz (v
xIn|z|+yargz (v
yIn|z|-xargz (f

X+ 4+ x"
J

fowl plas X > gll e, |-l-l:l = laie -YY
n—»o X
o
+o0 (Y
X
—_ (Y
X3
X—)
— (f

X


https://www.tahsilatetakmili.com/
https://www.tahsilatetakmili.com/

www.tahsilatetakmili.com

Y axio

934C (TYY) 05wy gaamslS il dc goxao

.a’-:l“‘ J‘b .

tca! paS YN+ X 039180 Sy 30 X" g —FY

-t -—

|
gyaswgls B sips
—
1

-~~~
-

¢l o1 (YYY,¥) i U (o, 0) dlais 51 AxT =Py =0 mie ad Job -TF
v
Y
\F
v
V5
Y
Y,
Y

(\

(¥

(¥

(¥

Y \ Y
X &s Z—
(‘f) +() ?A) +(’ *M =) Gt L 2= dxio W Jowe 51 C S -YO
fowul plas C i glil
o (\
\
— (Y
¥
Y (v
Y (f

TR . Oz :
ol plas (—y—,—) adadi jo il Hlade Wil cos” x+cos’ y +sin
A 2 ox oy

-

Y Y =
z2=—+——2 S -Y§
Y ¥ 2

\
._(\
¥

\
- (¥
$

\
—— (Y
Y

\
Y


https://www.tahsilatetakmili.com/
https://www.tahsilatetakmili.com/

www.tahsilatetakmili.com

A axio 934C (TYY) 05wy gaamslS il dc goxao

§ ! P'J‘II% )L&io ..L.‘blg K"+yv =¥fx 3 x"‘f‘y" =YX GuWQ),ML:’uA ;‘ ~-Yv
X +y
A )

Y ()
YR (Y
¥ (r
fr (fF
Moy 9oy B Z2) Aol o as adl Px Py +27 =8 Uole 45 yF pde pdaws S S 0T B8 -TA
plas II F.nds S e . F’(x._v,z)=\’xzi+_v}—zii S poe ly DAL S p guigy il &S
S
foaw!
T
Y
T (Y

Yt (Y
Y (f

t
y(e) =0 adgl bys b y'(t)+j v(x)cos(t—=x)dx =cost JI S5 - Joudlyand doleeyd y(t) s> -Y4

?“'f'd’
Jricosrt ¢
\/;COS\/;I (Y

Y .
X tsinVyt ¢
Y

ésin\/;t (f

fowl Y =0 A8l Cilze sl)lo { g’ dt ¥ adgl lade el Olga (00 Hlado 4> i3l ¥
ye)=a,y'(e)=Y
-Y
=Yy
V(Y
Y (f


https://www.tahsilatetakmili.com/
https://www.tahsilatetakmili.com/

www.tahsilatetakmili.com

{ axio 934C OYYY) 0S5 o i ganols  pwidiys 4cgoxo

s ¥(o =% ad gl dal el Lo O o S 80yt alolas y"+siny=o Jond! ya50 Wolao s o 8
TOWR PRRC ST JECPRTPIRIRY. PR () E

,/Y—Cosy (\

vy —cosy (v

\/Tcos_v—\ (¥

vy /Ycosy =\ (¥

oY weSae bad

u (O +sint) ()

~7ns

e

(Cwnl t=2a alaxl ) .\9‘,«1.; &U l.lﬂ(t)) ! plas G(S)= Y
S +§

u, (t)(\—sint) (v

u, (D)(\+cost) (¥

u, (t)(\=cost) (f

E[x"m] ke B ={X>r} 51000 [1,8] 854 10 colgis aujei b B0Uai puiio Sy X a9
! plas’

F

A (Y

2

Iy

o

v

sl pla8 E(Z) shis  Z =14 X X e 51005080 550 3 Jlaio! JE> ai 1, X Bolai puicis

(Y

(f

f(x)=Y\—x),e<x<)
Y ()
Y (Y
Y (v
¥ (F
(X1, X41) 51068 il g - ouilon b Jo 98 51 (Aol wigad S5 Xy Xy 5 (28
(Z,)ora =) tomsl plas m jladio by (515 0030 A0 pliebs! alold Sy
YYF (O
A (Y
Y7 (Y
1 (f

-\

-FY

Y

-FF

-¥Fo


https://www.tahsilatetakmili.com/
https://www.tahsilatetakmili.com/

www.tahsilatetakmili.com

Vs axido 934C

YYY)us o ,i',.”.olf WIS AL g0x0

o 0313 3 GleMb! AoMS 5 yF 0 518 Anslio 390 uSilao i 31 Bluks ibyle U Jloy dmel> aw  —FF

fouw! plas (SSE,X) = (Uas Sl o £ 900 9 5 nKileo) jlade ool

\ Y

agai ol =1 L I A I

plidigai oSl = X b4 A o

p'i 45,.05 ,L:&o d'ﬁ' = Si o/V \/ ] \,\

(AAY.5¥8) ()

(A/Ao %/ Y8) (¥

(AAY 7,YY) (¥

(V)Y .7)YY) (f

T S o 51,8 093 gl )0 gude wiz (aSilio jobay ), Ve M) Ao gazme OGSl olad )0
Y ()

\

— AY

n

\
y—— (¥

n

n-\ (f

-FY

3,18 glojlail 4z 55 GG le G 5155l b Sl ylas e gazme (0 S ) 3 il Lads 135 90 F g M 51 —FA

Vx[M(x) = —F(x)]

—3x|F(x) A M(x)]

Vx| F(x) = -M(x)]

Vx|M(x) = F(x)]

- Vx[-F(x) v -M(x)]

Vx[-(M(x) A=F(x)]

—3x|M(x) A-F(x)]
f(F A\l Y (Y Y ()
! Lol 3 sloas gama 31 Sy plas
Jst slae! ales degasa ()
Blie Jsb b 05095 glaand) pla degama (¥
WGz 5l i 85 (59, gLl pled degaas (T
jilae (5lisS 306 93 58 (s S slasl degane (F

¥4


https://www.tahsilatetakmili.com/
https://www.tahsilatetakmili.com/

www.tahsilatetakmili.com

1) axio 934C OYYY) 0S5 i ganols cwiiys acgoxo

ol e 435 oS 255,13 30 4 a2 g L .alL S AUk & gama (g3 all) SO R 0y (03
ol 3,8 35 S 531051 olGT Al 8,8 o sLas] sl g 53, oo akaly SO R 51 (A

ol 93 30 S 831001 ol Bl z3 oo (slds! Slawi g S35 iy Ally SUR ST (0

RSURCY () v (1 ) N §

S ) () 6 yal (M) (Y

G )3b () wam 0 (i) (Y

Can j3l () e ;0L (a1 (F

—Be

wibio oloyao bpuilo g oylj 4 phis sy ;oSN ool 9 ook ylasslu) S pido aadi' vgyd

(S ol B g Jole g piganelS (5 ) laxo

Tl plaS 5 (S 5h dayly Zly

T(n)=T(n/logn)+O())
O(logn) (\
O(loglogn) (v
O(logn/loglogn) (r
O(logn / (loglogn)") (¥
23 oS alasi 1y o (539 a0 @l 5110 )5 (gl3la 00508 0,5 M U g2 gcan 9990 ©3 10 U wS (0,9
W30 (359 o U (15 0,5 50 glilas 398 3 50 5 il o iy S J 0 (U Jald) U aly 4 &3 58 5
O 50 S350 ] )0 g gianis o) 10 VU Gl o e il T S5 Tas g 00 Blas ol W58 9 e
(el ¥ Ly ;I sls) ol plas aaly 35 oo y0 W
\vologn (
Y,ologn (¥
Ylogn (v
vlogn (f
ol bslas! ey 3 Gl (PIVOL) jame plgica slaas yaie OO al> po 10 53 &0 (g3l o as 598U 4
1y i (s Slasi' b o 581 51 9 990 WL j 920 lgaedy Slasl dile al> 50 18 50 51,095 o0 dumlio
S po 00 98 AL prdi Ak (! 30 Waslio Slami Sl (9 iy 30 WDeud o3liiw] Wilae Ao
Yol plas &y yuw
O(nlog‘ n) ¢
O(nlogn) (v
O(n") (v
O(n) (f

-8\

-oY

-oY


https://www.tahsilatetakmili.com/
https://www.tahsilatetakmili.com/

www.tahsilatetakmili.com

VY axio 934C OYYY) 0S5 i ganols cwiiys acgoxo

iy 510 ol 0955 e 9 69939 2 o3y slaxe JWet Wi 02 10 Jusst 39 1) Syyenns Sy didy K0S 28
g (1<K glp) S aidy jf yale o0 (3,5 Ol (o295 50 090 8 g Sy il I paie 5 505 G LS,
8315 (599)8 (lpied Sy & K2 g8 a4 Yoy BSlasl S (548 el S5+ iy Sl ol g8 Sy
el 3 (a9 03,5 dlyi sud S 5l Jlasl b 1) Voeoy 1 G dad (g o0 &5 K () 535295 090 0
fanl plas

) ()

Y (Y

n

n-) (f

el ¥ il 4 17 (53l y0 2 9 00 ooliasl (5 3Lupd 0 (sl (ohas (sl 9 5k (B0 3l S (8

1wl 23 O ygeods Jlupd )0 Jau j0 dlacl 6,051 )8 sea 0uld oo 0yuny P Slue! ded CAL 0 5l o
Afoyu?]=0,5,7,7,1,0,¥

Fogs aales YU SO @ jlops )0 Jaaor Cundy 59959 Sl wia ljla

A ()

Yy (Y

vy (Y

\Yo (F

BFS <50 glii )l v 121 1, BFS ) 58 51 8T el Jols G =(V,E) cya o dived 15 50

Sl 30 B8 sl s L Slasi pguas 50 4y 35 plaS g g0 ¥ a5

|El=6(n)

|E[=0(n") (v

|E|l=Q(nlogn) (v

bl azala ly $hg ol a5 85 Jle JUi L L8 Gl e NVSTISN(N=Y)/Y o g (F

e Jlesl oS Jrod sl &y o) a1y iy oo @adlss go g a5 50 1 aSTHE m ol A did

fogad planil JI5 (pI U el Lo Jos aia Jilao Sl il gl 2 )0 ;8T8 S0 0 L 510 SO Sde

g aluold g ks Ui 15 055330 Jab i 542 ED 9 LCS 1 jpkiin g ol A lais] disy A)

(ol (2 501 9 730 B> ooz (23 L)

n-LCS(A.A) (1

n-ED(A,A) (v

LCS(A,A)

ED(A.A) (f

-oF

-80

-0F

-8y


https://www.tahsilatetakmili.com/
https://www.tahsilatetakmili.com/

www.tahsilatetakmili.com

VY axio 934C OYYY) 0S5 i ganols cwiiys acgoxo

oS ool 15 s 980 It ol 8 ol 51 LS Bl (g1 LS ASLS S 50 S (28

s B 45 @S 0 QLU 48 51 pao SO Al o 12 )0 a3 0 )8 o 1) L des I (5500 )LE
& Sogb pedd e ol Gy B3I W 1) pes (ol L des HLG Bl ailly JIB B laes
D95 Gl (g pmmne (i U 0 g el Juiil 1) U5 ool 09 JaaSS (fidyb yasns JU S Sl

F! w30 3590 plaS o 19! ool 51 Lols LG 531001 5 90 4o

ol plp iy LB L O

! iy L i ol @ JSlas (Y

ol aiin (L o > S ojlasl 4 Slas (Y

il ateiy LS 0j000) 5l 2aS Ggd oo 58l 2 5 0] sl o5 55 e SlaSs lgs o (F

PR LA oS g 1) o5l Slaad (o piley medled o0 00 Ak Slasl jee g9) 05k M WS (B
Sy iyl Gligen I L oy conl alasjl slaws plp o(T) as 2,8 1 550 gy bl aiblns Sligen
a5 1) 1350 owile (8L gosl (o 5l Al e 18 53 i g0 soliiul ) dilay p> ity 58! 5| Al (0! J>
ey ojl Wiz 1S o Bio )l Sligeed 0T LS plbejl plad 5 oLkl canl e aes 51 T ¢(I)
G992 Bl > ok )sl AT M 0 yinS @S 0 DL 0lgd 1) (S0 392 S (LG Sllguan Slani S Clls
il 1S Wiy 35 cras 50 W3S o Ay |5 Winge lg> g

3 (\

O (Y

Y (r

Y (f

3 oolinl b 1) aines’ (sliigy S5 50 padlgsign ;a5 10 1y Wl N LG S (e g disen o 59 SIS
4 5 JUlwg S wio 5a8l 50 500 5 padl 4Bl g i par 1) L ST 0ulS dulme JUSug )5 o 558l
Sl gilwasly B Sloj 4z ;0 JWuwg S pis jaSdl il L JL (59,5 i 30

O(n"logn) (1

O(n") (v

O(nlogn) (v

O(n) (¥

\ ] oy 9590 plaS 19,409, (DFA) el alioodipds oguas )0

\ sl (aliie oaipdy ol G (O

3,3 3929 (58 SV slawi b g s pdy 0! 5, oo ! DFA (Y
Spdyse ) ) Jlax Jsb 4} g0l leacd) des osipdy nl (T
Spdyee Y Blas Job ) g 0l alaaid) dan sipdy (ol (F

-OA

-04

—;.

-7\


https://www.tahsilatetakmili.com/
https://www.tahsilatetakmili.com/

www.tahsilatetakmili.com

V¥ axio 934C OYYY) 0S5 i ganols cwiiys acgoxo

€09 00 ooyl pliie oyl oIS lawgi 359, (DFA) (galad aUGe o pdy (b
(a+b)* ¢
b*a(a+b)* (v
b*ab*ab* (r
b*ab*ab*ab¥* (¥

A gafy 5 01y w3 slbaxd, 9 L= {ab, aa, baa} ;L;

wl = abaabaaabaa
w2 = aaaabaaaa
w3 = baaaaabaaaab
w4 = baaaaabaa
Syl S L* jolaandy plus .ol L ob; (star closure) o s jlas Sls L* ais 5,8
wl, w3, wéd (v wl. w2, w3 (
w2, w3, w4 (f wl, w2, wd (v
S = g gmgn .k n, & :
?W'W)Oé),o('&:ula— {8 d"b"d"c¢": m,n,kZ\} alg)wW)a
ol plaza L (A
ot e 3 Jas ¢ Conl (20 4 el L (Y
plail biled SO W oL bl EN =1 81 .acie WL ples EN g CLR (sla 09,9 » ) jlaw 4o
a8 g0 plail |y (ot 4z 5 e .ol (MSB) (5551 oyl U (o295 Q0900

— ] 100 gline lad )
LR Q, |

1o sl 5)lad (V
U |- 1Po slisaibilad (V
0 R = s S L (
EN QC B V7o gl o)led (F
N D b—
CLK__ J
Clear (]

Al

=al

-F¥

-78


https://www.tahsilatetakmili.com/
https://www.tahsilatetakmili.com/

www.tahsilatetakmili.com

\0 axdo 934C OYYY) 0S5 i ganols cwiiys acgoxo

£3,15 oz Wiz (SOP) b yé Jol> gz Jol> K4 @ 55 &b slp & )le o joslw  —FF
f(A,B,C,D,E) =Y m(o,8,18,YF,YV, Yo, ¥1) + d(A,1),1¥,1%,Y),Y4)

YO
f (Y
O (Y
7 (f
(AT oo ey 1) Hlae SO 05 90 1) Tluwl Caw j0 3590 pliS o 0§ oy 0 PV
module DQ(Q,D,M,N); architecture ARCH of DQ is
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if(N=0) Q=\b0; Q<="0";
else Q=D; elseif (rising — edge(M)) then
end module Q<=D;
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BORROWING (UID, BID, StartDate, EndDate)
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a) with thl as (
select BORROWING.BID, count (BORROWING.BID) as cnt
from BORROWING, BOOK
Where BOOK.BID=BORROWING.BID and EndDate is null
group by BORROWING.BID)
select thLLBID
from tbl, BOOK
where thLBID=BOOK.BID and BOOK.TotalNumber = cnt

b) select BID
from BOOK bl
where (select count (UID)
from BORROWING
where BORROWING.BID = b1.BID and
BORROWING.EndDate is null) = b1.TotalNumber

¢) select BID, TotalNumber
from BORROWING, BOOK
where BOOK.BID = BORROWING.BID and EndDate is null
group by BORROWING.BID
Having count(BID) = TotalNumber
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Person (SSN,name,address)
Car(License, year,model)
Accident (License,accident — date,driver,damage —amount)
Owns(SSN, License)

foawl alls 1y Bolai op s 38 » ouddl) plas (Olslai g by pudile SleMbl STL 4 asei b
(SQL 5L & 09 0ils ) &yl o] 500 9 001 pL)
(select driver. damage-amount from Accident) Except (select a.driver, a.damage- (\
amount from Accident a, Accident b where a.damage-amount < b.damage-amount
and a.driver<>b.driver)
select driver, damage-amount from Accident where damage-amount in (select max (¥
(damage-amount) from Accident)
select driver, damage-amount from Accident where damage-amount = max (damage- (v
amount)
ol s 3 lga ann (F
wdolal 5 3 s 0 pedile I o lads plaS (e Jlhuw) (Slolai g apadile Sledbl b 41 a5gi b ~1))
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